
7707 & 7707ADT: Parts Breakdown & Operating Manual	 � 	 02/18/08

Operating Instructions • Warning Information • Parts Break­down

Capacity: . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1,500 lbs.

Base Size: .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  17.5 x 28.75"

Height: . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  5.31"

Shipping Weight:  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 70.5 lbs. (pair)

7707
1,500 Lb. 
CAPACITY 

CAR DOLLY

7707ADT
1,500 Lb. 
CAPACITY 

CAR DOLLY 
ADAPTER

7707 SPECIFICATIONS

READ, UNDERSTAND, AND FOLLOW ALL INSTRUCTIONS BEFORE 
OPERATING THIS DEVICE. FAILURE TO DO SO COULD CAUSE ACCIDENTS 
RESULTING IN PERSONAL INJURY AND/OR PROPERTY DAMAGE. 
HAZARDS SUCH AS DROPPING, TIPPING OR SLIPPING OF LOADS ARE 
CAUSED PRIMARILY BY IMPROPERLY SECURING LOADS, OVERLOADING,  
OFF-BALANCED OR OFF-CENTERED LOADS, USE ON OTHER THAN HARD LEVEL  
SURFACES, AND USING EQUIPMENT FOR A PURPOSE FOR WHICH IT WAS NOT 
DESIGNED.

•	 Do not exceed rated capacity.

•	 Use only on a hard level concrete surface free to roll without  
	any  obstructions. 

•	 Refer to the vehicle’s service manual or inquire from the vehicle  
	manufacturer  the recommended dolly support points on the vehicle  
	chassis . 

•	 Inspect dolly and adapter for mechanical fitness before using. Do not  
	use  if damaged, altered, modified, in poor condition, or unstable due  
	to  loose or missing hardware. Take corrective action before using.

•	 Position vehicle on dollies where weight distribution is equalized.

•	 Make sure setup is stable and secure before moving a vehicle  
	supported  by dollies. 

•	 Only attachments and/or adapters supplied by SUNEX TOOLS® shall  
	be  used. 

• 	 Wear eye protection that meets ANSI Z87.1 and OSHA standards. 

• 	 Stay clear of a lifted load.

•	 Complies with ASME/PALD Standards. 
•	 Adapter enables the user to remove a tire from  
	 the vehicle and still remain mobile in the garage. 
•	 Adapter plates remove to allow for resting the  
	 car on its axles. 
•	 Adapter fingers allow user to rest the vehicle  
	 frame/uni-frame on the adapter plates safely. 
•	 Allows user to rest vehicle under the front  
	 A-frame with full access to steering and brake  
	 components.

WARNING

WARNING

7707
7707ADT 
(EACH SOLD 
SEPARATELY
in pairs)



7707 & 7707ADT: Parts Breakdown & Operating Manual	�  	 02/18/08

Owner/User Responsibility...
The owner and/or user must have a thorough understanding of the  
manufac­turer’s op­erating instruc­tions and warnings before 
using the car dolly. Personnel involved in the use and op­eration  
of equip­ment shall be careful, competent, trained, and qualified in the 
safe op­eration of the equip­ment and its proper use when servic­ing 
motor vehicles and their components. Warning information should be 
emphasized and understood. If the op­erator is not fluent in English, the  
manufac­turer’s instruc­tions and warnings shall be read to and  
discussed with the op­erator in the op­erator’s native language by the 
purchaser/owner, making sure that the operator comprehends its 
contents.

Owner and/or user must study and maintain for future reference 
the manufacturer’s instructions and pertinent warning information. 
Owner and/or user is responsible for keeping all warning labels and  
instruc­tion manuals legible and intact. Replacement labels and 
literature are available from the manufac­turer.

Inspection...
Visual inspection should be made before each use of the car dolly 
and adapter, checking for damaged, loose or missing parts. Each dolly 
and adapter must be inspected by a manufacturer's repair facility 
immediately, if subjected to an abnormal load or shock. Any dolly or 
adapter which appears to be damaged in any way, is found to be badly 
worn, or operated abnormally MUST BE REMOVED FROM SERVICE until 
necessary repairs are made by a manufacturer's authorized repair 
facility. It is recommended that an annual inspection of the dolly and 
adapter be made by a manufacturer's authorized repair facility and 
that any defective parts, decals or warning labels be replaced with 
manufacturer's specified parts.

A list of authorized repair facilities is available from the manufacturer.

Operating Instructions • Warning Information • Parts Break­down

Assembly Instructions...
1.	� Using (#8) hex bolt, attach (#6) top plate to (#1) wheel dolly frame. 

As these units are universal, it is extremely important that the user 
ensures that any load be both stable and properly secured. Care 
should also be taken when moving loads using these units.

2.	 When using the adapter (7707ADT) always make sure that the  
	 adapter is securely fastened to the car dolly using 2 each of (#9)  
	 bolts, (#10) washers, (#13) spring washers, and (#11) hex nuts  
	p rovided in the hardware kit. This will ensure safety during  
	c ompletion of the job.

Operating Instructions...
1.	 As these adapters are universal, one must always ensure the  
	p roduct is suited to the application or use intended.
2.	 Always ensure that all loads are securely fastened to the  
	 adapter and stable.
3.	 Always use caution when moving any load. Beware of cracks,  
	 joints in floors, uneven surfaces, and foreign matter on the floor  
	 that could interfere with the safe operation of the casters and  
	 destabilize your load.
4.	 When using the adapter (7707ADT) always make sure that the  
	 adapter is securely fastened to the car dolly using 2 each of (#9)  
	 bolts, (#10) washers, (#13) spring washers, and (#11) hex nuts  
	p rovided in the hardware kit. This will ensure safety during  
	c ompletion of the job.



7707 & 7707ADT: Parts Breakdown & Operating Manual	�  	 02/18/08

Limited Warranty...
SUNEX INTERNATIONAL, INC. WARRANTS TO ITS CUSTOMERS THAT THE COMPANY’S SUNEX TOOLS® 
BRANDED PRODUCTS ARE FREE FROM DEFECTS IN WORKMANSHIP AND MATERIALS. 
Sunex International, Inc. will repair or replace its Sunex Tools® branded products which fail to give satisfactory service due to defective 
workmanship or materials, based upon the terms and conditions of the following described warranty plans attributed to that specific product. This 
product carries a ONE-YEAR warranty. During this warranty period, Sunex Tools will repair or replace at our option any part or unit which proves 
to be defective in material or workmanship.

Other important warranty information...
This warranty does not cover damage to equipment or tools arising from alteration, abuse, misuse, damage and does not cover any repairs or 
replacement made by anyone other than Sunex Tools or its authorized warranty service centers. The foregoing obligation is Sunex Tools’ sole 
liability under this or any implied warranty and under no circumstances shall we be liable for any incidental or consequential damages.

Note: Some states do not allow the exclusion or limitation of incidental or consequential damages, so the above limitation or exclusion may not 
apply to you. Return equipment or parts to Sunex Tools, or an authorized warranty service center, transportation prepaid. Be certain to include 
your name and address, evidence of the purchase date, and description of the suspected defect.

If you have any questions about warranty service, please write to Sunex Tools. This warranty gives you specific legal rights and you may also 
have other rights which vary from state to state. Repair kits and replacement parts are available for many of Sunex Tools products regardless of 
whether or not the product is still covered by a warranty plan.
		

		  Shipping Address: 	Sunex Tools, 315 Hawkins Rd.,  
			   Travelers Rest, SC 29690
		
		  Mailing Address: 	 Sunex Tools, P.O. Box 4215,  
			   Greenville, SC 29608

		

Operating Instructions • Warning Information • Parts Break­down



7707 & 7707ADT: Parts Breakdown & Operating Manual	�  	 02/18/08

Operating Instructions • Warning Information • Parts Break­down

	 Item 	 Part 	
	 No.	 No.	 Description	 Qty.

	 1	 	 Wheel Dolly Frame	 1
	 2	 RS7707CF	 Caster Frame (set of 4)	 1	
	 3	 RS526003	 4" Casters with Brake 	 2	
	 4	 RS526002	 4" Casters without Brake	 2
	 5	 	 Adapter	 1
	 6	 	 Top Plate	 1
	 7	 RS770707	 Finger Plate (set of 2)	 1	
	 8	 	 Hex Bolt M10x55	 1
	 9	 	 Hex Bolt M8x20	 38

Item 	 Part 	
	 No.	 No.	 Description	 Qty.

	 10	 	 Washer 8	 22
	 11	 	 Hex Nut M8	 6
	 12	 	 Nylon Lock Nut M8	 16
	 13	 	 Spring Washer 8 	 18

Also available:
RS7707BK
RS7707ADTBK
NOTE: Only items listed with a part number are available as 
replacement parts. 

	RS7707ADTBK 	
bolt kit includes:
	 Item  	
	 No.	 Description	 Qty.  

	 8	 Hex Bolt M10x55	 1
	 9	 Hex Bolt M8x20	 6
	 10	 Washer 8 	 6	
	 11	 Hex Nut M8	 6
	 13	 Spring Washer 8	 2

7707ADT

	RS7707BK 	
bolt kit includes:
	 Item  	
	 No.	 Description	 Qty.  

	 9	 Hex Bolt M8x20	 32
	 10	 Washer 8	 16
	 12	 Nylon Lock Nut M8	 16
	 13	 Spring Washer 8	 16

7707



7707/7707ADT: Desglose de Piezas y Manual de Operación	�  	 02/18/08

 
Instrucciones de Operación • Información de Advertencia • Revisión de Refacciones

Capacidad:...............................................  1,500 lbs

Tamaño de la base:............................ 17.5 x 28.75"

Altura:................................................................ 5.31"

Peso de embarque:............................ 70.5 lbs. (par)

7707
CARRETILLA DE  

COCHE CAPACIDAD 
1,500 Lb. 

7707ADT
ADAPTADOR DE 
CARRETILLA DE  

COCHE CAPACIDAD 
1,500 Lb

7707 ESPECIFICATIONES

LEA, COMPRENDA Y SIGA TODAS LAS INSTRUCCIONES ANTES DE OPERAR ESTE 
APARATO. HACER CASO OMISO PUEDE OCASIONAR ACCIDENTES, RESULTANDO EN 
LESIONES PERSONALES Y/O DAÑOS A LA PROPIEDAD.  SE OCASIONAN PELIGROS 
TALES COMO CAÍDAS, VOLCAMIENTOS, O RESBALADAS DE CARGAS, ANTE TODO, 
POR ASEGURAR LAS CARGAS  INADECUADAMENTE; LAS SOBRECARGAS; LAS 
CARGAS IMBALANCEADAS O NO CENTRADAS; EL USO EN SUPERFICIES QUE NO SEAN 
DURAS NI PLANAS; Y EL USO DEL EQUIPO PARA UN PROPÓSITO PARA EL CUAL NO 
FUE DESTINADO. 
•	 No exceda la capacidad nominal del producto.  
•	 Úselo sólo en las superficies duras y niveladas de concreto, libres  
	para  rodar sin ninguna obstrucción. 
•	 Consulte el manual de servicio del vehículo o infórmese con el  
	fabricante  del vehículo sobre los puntos recomendados de soporte  
	de  la carretilla en el chasis del vehículo. 
•	 Inspeccione la carretilla y el adaptador para su buen estado mecánico  
	antes  de usarlo. No lo use si esté dañado, modificado, en pobres  
	condiciones  o si esté instable, debido a ferretería suelta o faltante.   
	 Tome las medidas correctivas antes de usarlo. 
•	 Coloque el vehículo sobre las carretillas, en los puntos donde la  
	distribución  del peso esté equilibrada. 
•	 Asegúrese que el montaje esté estable y seguro antes de mover el  
	vehículo  soportado con carretilla. 
•	 Se deben usar sólo aquellos accesorios y/o adaptadores  
	suministrados  por SUNEX TOOLS®.  
• 	 Lleve puesto protección de ojos que cumpla con los estándares  
	 ANSI Z87.1 y OSHA. 
• 	 Aléjese de las cargas elevadas.

•	 Cumple con los estándares ASME/PALD. 
•	 El adaptador le permite al usuario quitar una  
	 llanta del vehículo y permanecerse móvil en  
	 el garaje. 
•	 Las placas del adaptador son desmontables para  
	 permitir que el coche se apoye sobre sus ejes. 
•	 Los dedos de adaptador le permiten al usuario  
	 reposar el armazón/uni-armazón de forma segura  
	 sobre las placas del adaptador. 
•	 Se le permite al usuario reposar el vehículo  
	 debajo del armazón en forma de “A,” al mismo  
	 tiempo que acceda los componentes de la  
	 dirección y de los frenos.

AVERTISSEMENT

AVERTISSEMENT

ADVERTENCIA

ADVERTENCIA

WARNING

WARNING
7707
7707ADT 
(VENDIDA POR 
SEPARADO EN 
PARES)



7707/7707ADT: Desglose de Piezas y Manual de Operación	�  	 02/18/08

Responsabilidad de  
proprietario / usario...
Antes de usar la carretilla de coche, el propietario y/o usuario debe 
contar con una plena comprensión de las instrucciones de operación y 
advertencias del fabricante. Los empleados implicados en la utilización 
de este aparato deben ser prudentes, competentes y bien calificados 
de acuerdo con un funcionamiento seguro y la utilización adecuada del 
aparato, cuando los utilicen para dar mantenimento a los vehículos y los 
componentes. Debemos insistir particularmente en que la información 
para las advertencias sea bien comprendida. Si el usuario no habla 
el idioma inglés con soltura, las instrucciones y las advertencias del 
fabricante deben ser leidas y explicadas por el comprador / propietario 
al usuario en su idioma materno y así asegurarse que el usuario haya 
comprendido el contenido. 

El propietario y/o usuario debe estudiar y conservar las instrucciones 
del fabricante, para consultas futuras. El propietario y/o usuario es 
responsable de asegurarse que las etiquetas de advertencia y los 
manuales de instrucciones estén conservados legiblemente e intactos. 
Las etiquetas de reemplazo y la documentación están disponibles con 
el fabricante.

Verificación...
Previo a cada uso de la carretilla de vehículo y del adaptador, se debe 
realizar una inspección visual de ellos, así revisando por piezas dañadas, 
flojas o faltantes.  Si está sujeto a una carga anormal o a un choque, 
cada carretilla y adaptador debe ser inmediatamente inspeccionado por 
un centro de reparación del fabricante.  Cualquier carretilla y adaptador 
el cual aparenta ser dañado de cualquier forma, que esté desgastado 
o que se opere de forma anormal, DEBE SER RETIRADO DE SERVICIO 
hasta que se hagan las reparaciones necesarias por parte de un centro 
de reparación autorizado del fabricante. Se recomienda que se haga 
una inspección visual de la carretilla y del adaptador por parte de un 
centro de reparación autorizado del fabricante, y que cualquier pieza, 
calcomanía, o etiqueta de advertencia defectuosa sea repuesta con las 
piezas especificadas del fabricante.. 

Una lista de los centros de servicio reconocidos está disponible con el 
fabricante.

Instrucciones de Operación • Información de Advertencia • Revisión de Refacciones

Instrucciones de ensamblado...
1.	 Usando un perno hexagonal (#8), sujete la placa superior (#6)  
	 al armazón de la carretilla de la llanta (#1). Estas unidades  
	 son universales, por lo que es extremadamente importante que el  
	 usuario asegure que cualquier carga esté estable y adecuadamente  
	 asegurada. Tome precauciones también al momento de mover las  
	c argas, usando las unidades a continuación.  

2.	 Al momento de usar el adaptador (7707ADT), asegúrese siempre  
	 que el adaptador esté sujetado seguramente a la carretilla de  
	c oche, usando 2 de cada uno de los pernos (#9), arandelas (#10),  
	 arandelas de resorte (#13) y tuercas hexagonales (#11) provistos en  
	 el juego de ferretería. Esto asegurará la seguridad durante la  
	 realización del trabajo.

Instrucciones de operación...
1.	 Debido a que estos adaptadores sean universales, uno debe  
	 asegurar siempre que el producto sea adecuado para la aplicación  
	 o uso destinados.

2.	 Asegúrese siempre que todas las cargas estén seguramente  
	 sujetadas al adaptador, y que estén estables.

3.	 Siempre ejerza precaución al momento de mover cualquier carga.   
	 Tenga cuidado de las grietas, juntas en el piso, superficies  
	 desniveles y materia ajena en el piso, los cuales podrían interferir  
	c on la operación segura de las ruedecillas y así desestabilizar  
	 su carga.

4.	 Al momento de usar el adaptador (7707ADT), asegúrese siempre  
	 que el adaptador esté sujetado seguramente a la carretilla de  
	c oche, usando 2 de cada uno de los pernos (#9), arandelas (#10),  
	 arandelas de resorte (#13) y tuercas hexagonales (#11) provistos en  
	 el juego de ferretería. Esto asegurará la seguridad durante la  
	 realización del trabajo.



7707/7707ADT: Desglose de Piezas y Manual de Operación	�  	 02/18/08

Garantía Limitada...
SUNEX INTERNATIONAL, INC., LE GARANTIZA A SUS CLIENTES QUE LAS HERRAMIENTAS Y 
PRODUCTOS CON LA MARCA DE LA EMPRESA SUNEX TOOLS NO CONTIENEN DEFECTOS EN SU MANO DE 
OBRA NI MATERIAS PRIMAS. 

Sunex International, Inc., reparará o sustituirá sus productos con la marca Sunex Tools® que reflejen fallas en el funcionamiento satisfactorio 
debido a que la mano de obra o las materias primas estén defectuosas, tomando como base las cláusulas y condiciones de los planes de garantía 
descritos a continuación y asignados a ese producto específico. Este producto tiene una garantía de UN AñO. Durante ese periodo de garantía, 
Sunex Toolsreparará o sustituirá, como así opte por hacerlo, cualquier componente o unidad que se compruebe tener decectos en su materia 
prima o mano de obra.

 
Otra importante información de la garantía...
Esta garantía no cubre ningún daño al equipo o herramientas, si este surge como resultado de su alteración, abuso, o mal uso o 
daños ni tampoco cubre las reparaciones o reposiciones hechas por cualquier persona ajena a los centros de servicio de garantía 
autorizados y que no sean de Sunex Tools. La obligación antes mancionada queda bajo la responsabilidad exclusiva de Sunex 
Tools® según se menciona o de cualquier garantía implícita y bajo ninguna circunstancia quedará bajo su responsabilidad cualquier 
garantía implícita ya bajo ninguna circunstancia quedará bajo su responsabilidad cualquier daño incidental o consecuencial. 

Nota: Algunos estados no permiten la exclusión o limitación de los daños incidentales o consecuenciales, por lo tanto la limitación o exclusión 
arriba mencionada quizá no pudiera serle pertinente a usted. Devuelva el equipo o componentes a Sunex Tools, un centro de servicio de garantía 
autorizado, con elflete pagado. Asegúres haber incluido su nimbre y dirección, la evidencia de la fecha de adquisición y la descripción del defecto 
que se sospeche tener. 

Si tiene alguna duda relacionada con elservicio de garantía, por favor escríbale a Sunex Tools. Esta garantía le concede derechos jurídicos  
específicos y quizá otros derechos que varían de un estado a otro, Sunex Tools tiene a su disposición los juegos de reparación  
y refacciones de repuesto para muchos de sus productos, sin importar si el producto continúe o no bajo el plan de la garantía.

Instrucciones de Operación • Información de Advertencia • Revisión de Refacciones

DIRECCIóN A EMBARCARSE:	 Sunex Tools • 315 Hawkins Rd. 
		  Travelers Rest, SC 29690

DIRECCIóN DE CORREOS:	 Sunex Tools • P.O. Box 4215 
		  Greenville, SC 29608



7707/7707ADT: Vue éclatée des pièces et mode d'emploi	�  	 02/18/08

Instructions de fonctionnement • Avertissement • Pièces

Capacité :..................................................... 1 500 lb
Dimension de la base :.......................17,5 x 28,75"
Hauteur :.............................................................5,1"
Poids à l’expédition :.........................70,5 lb (paire)

7707
CHARIOT DE VOITURE 
D’UNE CAPACITÉ DE  

1 500 LB
7707ADT

ADAPTATEUR POUR 
CHARIOT DE VOITURE 
D’UNE CAPACITÉ DE  

1 500 LB

7707 SPÉCIFICATIONS

LISEZ, COMPRENEZ ET SUIVEZ TOUTES LES INSTRUCTIONS AVANT D'UTILISER 
CE DISPOSITIF. LE MANQUE À OBSERVER CES INSTRUCTIONS PEUT CAUSER DES 
ACCIDENTS AYANT POUR RÉSULTAT DES BLESSURES CORPORELLES ET/OU DES 
DÉGÂTS MATÉRIELS. DES SITUATIONS DANGEREUSES TELLES QUE LA CHUTE, LE 
CULBUTAGE OU LE GLISSEMENT DES CHARGES SONT PROVOQUÉS PRINCIPALEMENT 
EN FIXANT INADÉQUATEMENT LES CHARGES, LA SURCHARGE, LES CHARGES MAL 
RÉPARTIES OU CENTRÉES, OU L’UTILISATION AUTRE QUE SUR DES SURFACES RIGIDES 
ET DE NIVEAU, ET L’UTILISATION D'ÉQUIPEMENT DANS UN BUT AUTRE QUE CELUI 
POUR LEQUEL IL A ÉTÉ CONÇU.
•	 N'excédez pas la capacité évaluée.
•	 Utilisez seulement sur une surface de béton rigide et libre de tous  
	obstacles  pour rouler.
•	 Référez-vous au manuel d'entretien du véhicule ou  
	renseignez -vous auprès du fabricant du véhicule au sujet des points  
	de  soutien du chariot recommandés sur le châssis du véhicule.   
•	 Inspectez le chariot et l'adaptateur pour vous assurer de leurs  
	bonnes  conditions mécaniques avant l’utilisation. Ne pas utilisez  
	si  endommagé, altéré, modifié, ou en mauvaise condition, ou encore,  
	instable  due à du matériel lâche (desserré) ou manquant. Prenez une  
	action  corrective avant l’utilisation.
•	 Positionnez le véhicule sur les chariots à l’endroit où la distribution  
	du  poids est égale.
•	 Assurez-vous que l'installation est stable et sécuritaire avant de  
	d éplacer un véhicule soutenu par des chariots.
•	 Seulement les accessoires et/ou les adaptateurs fournis par  
	 SUNEX TOOLS® devraient être utilisés.
•	 Portez une protection oculaire qui répond aux normes ANSI Z87.1  
	et  OSHA.  
•	 Tenez-vous à l’écart d'une charge soulevée

•	 Se conforme aux normes ASME/PALD. 
•	 L'adaptateur permet à l'utilisateur de retirer  
	 un pneu du véhicule et de rester tout de même  
	 mobile dans le garage. 
•	 Il est possible de retirer les plaques des  
	 adaptateurs afin de permettre de reposer la  
	 voiture sur ses essieux. 
•	 Les doigts des adaptateurs permettent à  
	 l'utilisateur de reposer le châssis/châssis-uni  
	 du véhicule sur les plaques des adaptateurs  
	 sans risques. 
•	 Permets à l'utilisateur de reposer le véhicule  
	 sous l'avant du châssis-A avec l’accès complet  
	 aux composants de la direction et des freins.

AVERTISSEMENT

AVERTISSEMENT

ADVERTENCIA

ADVERTENCIA

WARNING

WARNING

7707
7707ADT 
((VENDU 
SÉPARÉMENT  
PAR PAIRES)



7707/7707ADT: Vue éclatée des pièces et mode d'emploi	�  	 02/18/08

Responsabilité du  
propriétaire / utilisateur...
Le propriétaire et/ou l'utilisateur doivent avoir une bonne compréhension 
des consignes d'utilisation et des avertissements du fabricant avant 
d'utiliser le chariot de voiture. Le personnel impliqué dans l’utilisation 
de cette pièce d’équipement doit être prudent, compétent, bien entraîné 
et qualifié au fonctionnement sécuritaire et à l’utilisation adéquate 
de l’équipement, au moment de l’entretien des véhicules et de leurs 
composantes. On devrait insister particulièrement sur la compréhension 
des renseignements touchant les mises en garde. Si l’utilisateur ne 
parle pas couramment l’anglais, les directives du manufacturier et 
les mises en garde devraient être lues et discutées par l’acheteur / 
propriétaire avec l’utilisateur dans sa langue maternelle, pour s’assurer 
de la bonne compréhension du contenu par l’utilisateur.

Le propriétaire et/ou l'utilisateur doivent étudier et conserver pour 
référence future, les instructions et les informations d'avertissement 
pertinentes du fabricant. Relativement aux étiquettes de mises en 
garde et aux manuels de directives, le propriétaire et / ou l’utilisateur 
est responsable de s’assurer qu’ils soient maintenus lisibles et intacts. 
Les étiquettes de remplacement et la littérature sont disponibles auprès 
du manufacturier.

Vérification...
Une inspection visuelle devrait être faite avant chaque utilisation 
du chariot et de l'adaptateur de voiture, vérifiez pour les pièces 
endommagées, desserrées, ou manquantes. Si soumis à une charge 
ou à un choc anormal, chaque chariot et adaptateur doit être inspecté 
immédiatement par le service de la réparation du fabricant. N'importe 
quel chariot ou adaptateur qui semble être endommagé de quelque 
façon, sévèrement usé, ou fonctionne anormalement DOIT ÊTRE RETIRÉ 
DU SERVICE jusqu'à ce que les réparations nécessaires soient effectuées 
par le service de réparation autorisé du fabricant. Nous recommandons 
qu'une inspection annuelle du chariot et de l'adaptateur soit faite par 
le service de réparation autorisé du fabricant et que toutes les pièces 
défectueuses, les décalques ou les étiquettes d'avertissement soient 
remplacés par les pièces indiquées par le fabricant..

Une liste des centres de service  reconnus est disponible auprès  
du manufacturier.

Instructions de fonctionnement • Avertissement • Pièces

Instructions d'assamblage...
1.	 Utilisez le boulon hexagonal (# 8) pour fixer la plaque  
	 supérieure (# 6) à la roue du châssis du chariot (# 1). Ceci  
	 sont des ajustements universels et il est extrêmement important  
	 que l'utilisateur s'assure que n'importe quelle charge soit stable  
	 et correctement fixée. Portez une attention particulière lorsque  
	 les charges sont en mouvement lors de l’utilisation ces unités.

2.	 Lorsque vous utilisez l'adaptateur (7707ADT), assurez-vous  
	 toujours que l'adaptateur est solidement attaché au chariot  
	 de voiture à l'aide des 2 boulons (# 9) 2 rondelles (#10) 2  
	 rondelles ressorts (# 11) et 2 écrous hex fournis dans la trousse  
	 de matériel. Ceci assurera la sécurité pendant l'accomplissement  
	 du travail.

Instructions d'utilisation...
1.	 Comme ces adaptateurs sont universels, on doit toujours  
	 s’assurer que le produit est conçu pour l'application ou pour  
	 l'utilisation prévue.

2.	 Assurez-vous toujours que toutes les charges sont solidement  
	 fixées à l'adaptateur et stables.

3.	 Faites toujours attention en déplaçant n'importe quelle charge.  
	 Prenez garde aux fissures, aux joints dans les planchers, aux  
	 surfaces inégales, et aux corps étrangers sur le plancher qui  
	p ourrait interférer l'utilisation sécuritaire des roulettes et déstabilisez  
	 votre charge.

4.	 Lorsque vous utilisez l'adaptateur (7707ADT), assurez-vous  
	 toujours que l'adaptateur est solidement attaché au chariot  
	 de voiture à l'aide des 2 boulons (# 9) 2 rondelles (#10) 2  
	 rondelles ressorts (# 11) et 2 écrous hex fournis dans la trousse  
	 de matériel. Ceci assurera la sécurité pendant l'accomplissement  
	 du travail.



7707/7707ADT: Vue éclatée des pièces et mode d'emploi	1 0 	 02/18/08

Garantie limitée...
SUNEX INTERNATIONAL, INC. GARANTIT À SES CLIENTS QUE LES OUTILS DE MARQUE 
SUNEX TOOLS SONT EXEMPTS DE DÉFAUTS DE MAIN D'ŒVRE ET DE MATÉRIAU
Sunex International, Inc. réparera ou remplacera ses outils de marque Sunex Tools qui ne donnent pas un service 
satisfaisant à cause d'un défaut de main d'œuvre ou de matériau, selon les termes et conditions décrits ci-dessous 
dans les plans de garantie correspondant à ce produit spécifique. Ce produit a une garantie de UN AN. Pendant la période de garantie, Sunex 
Tools réparera ou remplacera, à sa seule discrétion, toute pièce ou tout appareil dont il a été déterminé qu'il comporte un défaut de matériau 
ou de main d'œuvre.

Autres informations importantes sur la garantie...
Cette garantie ne couvre pas les dommages à de l'équipement ou à des outils modifiés, sujets à des abus ou à une utilisation incorrecte, ou 
encore endommagés; elle ne couvre pas les réparations ou le remplacement effectué par quiconque autre que Sunex Tools ou ses centres de 
services de garantie autorisés. L'obligation qui précède constitue la seule responsabilité de Sunex Tools en vertu de cette garantie ou de toute 
garantie implicite; et en aucun cas Sunex Tools ne pourra être responsable pour des dommages indirects ou consécutifs. 

Remarque : Certaines juridictions ne permettent pas l'exclusion ou la limitation des dommages indirects ou consécutifs; la limitation ou 
l'exclusion ci-dessus pourrait donc ne pas s'appliquer à votre cas. Retourner l'équipement ou les pièces à Sunex Tools, ou à un centre de 
service de garantie autorisé, port prépayé. S'assurer d'inclure votre nom, votre adresse, une preuve de la date d'achat et la description de la 
défaillance présumée. 

Veuillez adresser par écrit toutes vos questions sur le service de garantie à Sunex Tools. Cette garantie donne à l'acheteur des droits juridiques 
spécifiques ainsi que certains autres droits qui peuvent varier selon la juridiction. Après échéance de la garantie de remplacement direct d'un 
an, certaines pièces de service seront disponibles à l'achat par l'entremise des options de services normaux de Sunex Tools.

	 ADRESSE D'EXPÉDITION: 	 Sunex Tools, 315 Hawkins Rd. 
		  Travelers Rest, SC 29690

 
	 ADRESSE POSTALE: 	 Sunex Tools, P.O. Box 4215 
		  Greenville, SC 29608 

Instructions de fonctionnement • Avertissement • Pièces


